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To complete each item, choose the best word
or phrase from among the four choices.

In the 1930's, the town became heavily ( ).

1 industries 2 industrious 3 industrialized 4 industry
Student enrollment in the seminar ( ) to 45 people.

1 counts 2 amounts 3 sums 4 raises

The reigning Royal House of Japan ha e ) for a long
time.

1 heredity 2 1inheritance inherit 4 hereditary

Importing oil is an ( s without natural oil

reserves.

1 1imperative 2 e 3 empire 4 1mportance

Many teenage boys have ) appetites.

1 ambitious 3 voracious 4 1rresistible
job the U.S. ( ) is, it is surprising so
many people
presidential 3 presidency 4 preside

) varying degrees of affection and respect

2 touch 3 attend 4 attenuate
The data have been erased, and they are not ( ).
1 retrieved 2 retrieval 3 retrievable 4 retrieving
People should be considered innocent until ( ) guilty.
1 appointed 2 realized 3 emerged 4 proven
The final decision will be made at tomorrow's ( ) session.

1 plenary 2 preliminary 3 plenum 4 precedent



(> TV )

(21) Your answer would have been better if you hadn't wasted so
much time beating around the ( ).
1 stump 2 bush 3 pole 4 mark

(22) Fear can exist only in relation to somethin ).
1 reference 2 isolation 3 conn relevance

(23) Radio was the remedy for isolation, which ) of
the farmer.
1 bit 2  Dblessing e 4 cause

(24) Why do we always wait verytiast ( ) to think
about Christmas? Right 1me to start thinking.
1 resort 2 minu post 4 straw

(25) A happy chil 1 owl 1s half-full of ice cream.
An unhappy chil s half-empty! It's all in the ( ).

1 mind 2




